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[ //Bigh =amp.bValue). szBuf[nReturn] = 0. } _ finally { Odelete[]

PWS. } } /fmmmmmmm e e e // GBK
=—amp.bValue). szBuf[nStrLen] = 0. } _ finally { Odelete[] pws. } }
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void GB2GBK(char *szBuf) { if(Istrcmp(szBuf, ")) return. int
nStrLen = strlen(szBuf). WORD wLCID =
MAKELCID(MAKELANGID(LANG_CHINESE,
SUBLANG_CHINESE_SIMPLIFIED), SORT_CHINESE_PRC).
int nNReturn = LCMapString(wLCID,
LCMAP_TRADITIONAL_CHINESE, szBuf, nStrLen, NULL, 0).



If(InReturn) return. char *pcBuf = new char[nReturn 1]. _ try{
WLCID = MAKELCID(MAKELANGID(LANG_CHINESE,
SUBLANG_CHINESE_SIMPLIFIED), SORT_CHINESE_PRO).
LCMapString(wLCID, LCMAP_TRADITIONAL_ CHINESE,
szBuf, nReturn, pcBuf, nReturn 1). strncpy(szBuf, pcBuf, nReturn). }
__finally { Odelete[] pcBuf. } }

[ m // GBK =[] GB2312 void
GBK2GB(char *szBuf) { if(!strcmp(szBuf, ")) return. int nStrLen =
strlen(szBuf). WORD wLCID =
MAKELCID(MAKELANGID(LANG_CHINESE,
SUBLANG_CHINESE_SIMPLIFIED), SORT_CHINESE_BIG5).
int nNReturn = LCMapString(wLCID,

LCMAP_SIMPLIFIED CHINESE, szBuf, nStrLen, NULL, 0).
if(InReturn) return. char *pcBuf = new char[nReturn 1]. _ try{
WLCID = MAKELCID(MAKELANGID(LANG_CHINESE,
SUBLANG_CHINESE_SIMPLIFIED), SORT_CHINESE_BIG5).
LCMapString(wLCID, LCMAP_SIMPLIFIED _CHINESE, szBuf,
nReturn, pcBuf, nReturn 1). strncpy(szBuf, pcBuf, nReturn). }
__finally { Odelete [JpcBuf. } } /0 0 0O O ...... char
sourceEncode[255]. char szBuf[1024]. // O GB2312 [1 [ GBK
strcpy(szBuf, sourceEncode). GB2GBK((szBuf). // 0 GB2312 [J [J
BIG50 O OO GBK O O strcpy(szBuf, sourceEncode).
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